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1.  What sector does the activity of milking cows
belong to?
A. Secondary sector
B. Tertiary sector
C. Quaternary sector
D. Primary sector (D)
Explanation: Milking cows involves obtaining raw
materials directly from nature and is classified as a
primary sector activity.
2. Which process is involved in preserving milk by
heating it to a specific temperature?
A. Refrigeration
B. Pasteurisation
C. Fermentation
D. Dehydration (B)
Explanation: Pasteurisation is the process of heating
milk to kill harmful bacteria and extend its shelf
life.
3. What economic activity includes the
transformation of milk into butter and cheese?
A. Tertiary sector activity
B. Primary sector activity
C. Secondary sector activity
D. Quinary sector activity ©
Explanation: Transforming milk into products like
butter and cheese is a form of manufacturing,
which falls under the secondary sector.
4. Who advised the farmers of Anand to form a
cooperative?
A. Mahatma Gandhi
B. Sardar Vallabhbhai Patel
C. Bhimrao Ambedkar
D. Jawaharlal Nehru (B)
Explanation: Sardar Vallabhbhai Patel encouraged
farmers to organize themselves into a cooperative
to eliminate middlemen.
5. What is a key feature of a cooperative?
A. It is owned by the government
B. Decisions are made by a board of directors only
C. It is voluntarily owned and run by members
D. It operates purely for profit (@)
Explanation: Cooperatives are voluntary organizations
owned and managed collectively by their
members to fulfill shared needs.

6. Which sector is responsible for transporting and
selling milk products?
A. Quaternary sector
B. Tertiary sector
C. Secondary sector
D. Primary sector (B)
Explanation: Services like transport, retail, and
distribution are part of the tertiary sector.
7. What was one major reason farmers in Anand
were dependent on middlemen?
A. Lack of interest in milk sales
B. Poor quality of milk
C. Milk spoiled quickly in heat
D. They had high bargaining power ©
Explanation:n the hot climate, milk would spoil
quickly, forcing farmers to sell it rapidly through
middlemen.
8. What is one key benefit of recycling one tonne of
paper?
A. Increases landfill waste
B. Requires more energy than making new paper
C. Saves 17 trees
D. Uses more water ©
Explanation: Recycling a tonne of paper helps save 17
trees and reduces energy and water consumption
compared to producing new paper.
9. What economic sector includes retail sales in
small shops?
A. Secondary sector
B. Quaternary sector
C. Tertiary sector
D. Primary sector (@)
Explanation: Retailing is a service-based activity,
categorized under the tertiary sector.
10. What product is created in the secondary sector
from wood pulp?
A. Milk
B. Trees
C. Paper
D. Ink ©
Explanation: Paper is produced from wood pulp
through manufacturing, which is a secondary
sector activity.

MISSION GYAN — DESH KA APNA SCHOOL




